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Sub-Section Number: 1
Sub-Section Id: 335472103
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354724831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following states has been ranked as the most farmer-friendly State by the NITI Aayog? | Hifa
AT gRT giead neat # & Forg woar 1 framt @ g gaitéemr srgqe uoa 1 g foar mar?

Correct : 1 Wrong : 0

Options :

1. ¥ Maharashtra | AgRTE

2. ¥ Madhya Pradesh | Aeamey
3. #¥ Rajasthan | ToEIH

4. #® punjab | 9TE

Question Number : 2 Question Id : 3354724832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ancient city of Ujjain lies on the banks of __ River. | W= ST 3= _______ b A O e L o T
Correct : 1 Wrong : 0

Options :

1. ¥ Narmada/ sdar
2. ¥ Kyashypa| #90
3. ¢ Kshipra/ &mr

4. ® Tapti/ IHEr

Question Number : 3 Question Id : 3354724833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following took 16 wickets on test cricket debut? | 799 # & fopa= 2&¢ Thdhe &1 Ugelt Ul # 16 e

Correct : 1 Wrong : 0

Options :

1. #® Cottari Kanakaiya Nayudu | #IZH #9621 A4S
2. ¢ Narendra Hirwani | Tg st

3. ® Mansoor Ali Khan Pataudi | A9 Sf#t @ USIaT
4. ¥ aslam Sher Khan | 3/9aR 9T @4

Question Number : 4 Question Id : 3354724834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which one of the following constructions in Madhya Pradesh has NOT won the Aga Khan Award for
Architecture? | mwu%&rﬁ%ﬂﬁf@ﬂﬁﬁﬁmﬁﬁuﬁaﬁﬂm&fﬁq ST @ RERR 51 SAdT?

Correct: 1 Wrong : 0

Options :

1. ¥ Aranya Community Housing, Indore | SRUZ #giae gIafdm, gwar)
2. ¥ Vallabh Bhawan, Bhopal | S@aw ¥a-, {iume

3. # Vidhan Bhavan, Bhopal | T wa=, \me

4. # Slum Networking, Indore | W J2aiht, T3

Question Number : 5 Question Id : 3354724835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following is the oldest institute in India for fundamental research in basic sciences? | [EUIEIEaR R

I AT g et § difeier argae & 6l IR &7 gad [HT 980 87
Options :
1. ¥ Tata Institute of Fundamental Research | TRT Uayd ST G€ITH (ST 59 Ie]e 3% G THee )

2. ¥ Indian Association for the Cultivation of Science | T Qdt AR 19 T (0o UGITATAT B & Biecdd 3T
GIELS))

3. ® Indian Institute of Science | YRA T a9 G (1224 sHCIEE ATF @EH)
4. #¥ National Physical Laboratory | (9 ide WA (A9 B oiwa ddiedh

Question Number : 6 Question Id : 3354724836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was the leader of the first Indian team that stayed in Antarctica during winter? | @ieal & g ST ICHT H
TG ATel Ugel WA 1 SIH o a7 @1 &7

Correct : 1 Wrong : 0

Options :

1. ¥ HK. Gupta | U= 78T

2. ® VK. Raina | @ &0

3. ¥ 5.5 Sharma | Uq.09. 9Wi
4 ¥ 5.7 Qasim [ TA.IE. FIEH

Question Number : 7 Question Id : 3354724837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Narne the river on which the Hirakud multipurpose project has been built? | 39 91 #T 710 ad10 76 W gR1GS
g uietsTT T Twi o mar g7

Correct: 1 Wrong : 0

Options :
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#® Godavari | MemRT
# Damodar | TWRET
#® Sone | g9

. ¥ Mahanadi | Ag=el

'&WN!—‘

Question Number : 8 Question Id : 3354724838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The "Vanbandhu Kalyan Yojana’ (VKY) is aimed at improving the infrastructure and human developrment
indices of the ______. | T T AT (iehaTe) BT e ______ T TS TEHT AT SHTegaaR X ATd

qwTE § GUR &7 8]
Correct : 1 Wrong : 0

Options :

1. ® Farmers | Tramt

2. ¥ Tribal population | SITd =T STEE
3. ® Senior citizens | aig amTivEt

4. ® Weaker sections | WHIIT a1l

Question Number : 9 Question Id : 3354724839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

“World Ozone Day’ is celebrated on
HATAT 14T 21

Options :

1. ¢ 16th Septemnber | 16 dax
2. ® 27th September | 27 @gat
3. ¥ 20th September | 20 @dax
4. ® 30th September | 30 aaw

Question Number : 10 Question Id : 3354724840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Right to Property was removed from Fundamental Rights by which amendment? | T daiee & grT Aiicie
arﬁ]am# & GO & SITEET ®1 5T 12T =T 917

Correct : 1 Wrong : 0

Options :

1. ¥ 29th [ 294
2. ® 25th | 254
3. ¢ 44th | 44d
4. ® 42nd | 42
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Question Number : 11 Question Id : 3354724841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What medal did P.V. Sindhu win at the World Badminton Championship 20177 | d.d. Ty 7 fora defiies
AfIAIAT 2017 ® F19 91 ug® SAqr?

Correct: 1 Wrong : 0

Options :

1. #® Gold | gavf

2 ¢ Silver | &

3. ¥ Bronze | #GA

4. # Platinum | qaifead

Question Number : 12 Question Id : 3354724842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Vikram Sarabhai Space Centre is located at _________. | o AR st e H e 3
Correct : 1 Wrong : 0

Options :

1. ¢ Thiruvananthapuram | Rza"aqs
2. ® Sriharikota | AgiateT

#® Hassan | a9

4. ¥ Balasore | SATEIX

w

Question Number : 13 Question Id : 3354724843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bhagat Singh and Rajguru were hanged along with ___________ on 23rd March 1931. | 23 AR 1931 & W &g
AT ®T ___________ & G BT &1 T 2

Correct : 1 Wrong : 0

Options :

1. ¥ Ramprasad Bismil | TAWETE feieh
2. ® Khudiram Bose | GERW |

3. ®¥ Mangal Pandey | A& UU24
4.

¢ Sukhdev | g@ed

Question Number : 14 Question Id : 3354724844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The abbreviation ‘SEEI’ stands for: | @gF &7 ‘@l 7 qoieq g

Options :
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1. ¢ Securities and Exchange Board of India | WRd = wiayid e afemg ad
2. ® Savings and Earnings Board of India | ¥Rd 12 g2 i s 918

3. # Small Earnings Bank of India | ¥Rd 14 &Y 99T dF

4. ® Stock Exchange Board of India | ¥R €iw Ugas ais

Question Number : 15 Question Id : 3354724845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Baul is the musical tradition of which one of the following Indian states? | a73w, @ & & g wrd g T &7
T URURE |Tiia 37

Correct: 1 Wrong : 0

Options :

1. ¥ Gujrat | ToT
2. ¥ West Bengal | Ut ame

3. ¥ andhra Pradesh | I waar
4. ® Himachal Pradesh | TgAma near

Question Number : 16 Question Id : 3354724846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who worshipped Gadkalika? | TgeTTcierT @ goTT T @17
Correct : 1 Wrong : 0

Options :

1. ¢ Kalidas | #Tdig™
2. ® Tulsidas | gAdE™E
3. # Surdas | TaE

4. ® Raidas | {&™

Question Number : 17 Question Id : 3354724847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Sanjay National Park extends into the districts of _______. | ST R I _______ et # e 3
Correct: 1 Wrong : 0

Options :

1. # Sidhi and Satna | et 3T g

2. #® Sidhi and Rewa | deft ot Tar

3. # Sidhi and Sarguja | |reft st FET
4. ¢ Sidhi and Singrauli | et sfiv R

Question Number : 18 Question Id : 3354724848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In which year was the Panna National Park included in Project Tiger? | o ad ugT T T &1 Wieiare T1STR | JTiHa
e T TTT <177

Correct: 1 Wrong : 0

Options :

1. ¥ 1981
2. v 1994
3. % 1999
4. ® 1997

Question Number : 19 Question Id : 3354724849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Neelkantheshewar Ternple of Jhabuaisat _______. | ST T eter&oe) BT _______ Ha
Correct : 1 Wrong : 0

Options :
General Maths and General Aptitude
1. ¢ Petlawad | UedETS
2. ® Rangpura | TTRT
3. ® Deojhiri | 2afzRr
4. ® Bahuriband | FgRIEg

Question Number : 20 Question Id : 3354724850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is Tansen’s tomb situated? | TTE- &1 AdHeRT Fgl €T 57
Correct : 1 Wrong : 0

Options :

1. ¢ Gwalior | T@TeaT
2. ® Jhansi | ZET

3. # Sheopur | EIT

# Shivpuri | f9egdr
Section Id : 335472104 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 1
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472104
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354724851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A train 250 meters long CI‘OSSQS. d bridge in 20 seconds. If the speed of the train is 108 kﬂ?fh, then the length
of the bridge is: | T& 250 HieT #ell ¢ U Gl I 20 a0ve § U)K 21 e @ @ iid 108 Tt oo 8 a7 gt & @ aTs @

Correct : 1 Wrong : 0

Options :

1. ¥ 250m | 250 HIET
2. ¥ 500m | 500 HiET
3. ¢ 350 m | 350 #Hiex
4. ¥ §00m | 600 HiET

Question Number : 22 Question Id : 3354724852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
A cuboid has

Options :
1. %8
2.¥ 12

Question Number : 23 Question Id : 3354724853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If x* — 6x% + 8x% — 10x + 11 is divided by x — 1, then the remainder is: / TT¢, x* — 6x° + 8x2 — 10x
+11 & x- 1 fgefera foar amar & ar Ause &

Correct: 1 Wrong : 0

Options :
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¢
|
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Question Number : 24 Question Id : 3354724854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

355 355

—-27 ) —27 -
—— isnot a/an Y e B LI Hél %I

—4/25 —2

Correct: 1 Wrong : 0

Options :

1. ¥ real number | IEFicF GET

2. #® fraction | ™9

3. ® rational numnber | TRHT §EAT

4. ¢ irrational number | STRHT FEAT

Question Number : 25 Question Id : 3354724855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1/8 =7
Correct : 1 Wrong : 0

Options :

1. ¥ 008
2. ¥ 0.125
3. % 0.15
4. ¥ 08

Question Number : 26 Question Id : 3354724856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
32* =36

Options :

28th Dec 17 Shift 2



28th Dec 17 Shift 2

Question Number : 27 Question Id : 3354724857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | 3f9d 1T #4
45, 65, 40, 35, 25

Correct: 1 Wrong : 0

Options :

® 40
%41
V42

S

Ll

® 43

-

Question Number : 28 Question Id : 3354724858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. 729 ; R -
If34x*~'=j=thenx1s _/afe 34x*‘=q—,(_-l’fx %l
3

-4
3

Correct : 1 Wrong : 0

Options :

b

w N =
b4 & g
W N R

-
&
O

Question Number : 29 Question Id : 3354724859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Three numbers are chosen from 3, 5, 7, 9, 11, 13, and 15, 50 that the sum is 35. The smallest number that
can be a member of such asetis: [ 3,5, 7, 9, 11, 13 Ud 15 # & &9 GEg13il &7 20 569 TFR ®¢ 77 ST IIMEA 35 51

| g% AT GEAT, A 3T G FT GG 51 Gl &, ___ 2l
Correct : 1 Wrong : 0

Options :

1% 3
el
3.7
4 % 9

Question Number : 30 Question Id : 3354724860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If 5%=15625. then 2%is /3t 5%=15625. ar 2% Bl
Options :

1. ¥ 48

2 ® 32

Question Number : 31 Question Id : 3354724861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a person deposits 50 lakhs in the bank, then how many millions of rupees is it equivalent to? | aie ®1g ™
% ® SO @ ST FaT &, q1 g (oha Hicad €91 & o 7

Correct : 1 Wrong : 0

Options :

1. %8 05
28 3
3.¢¥5
*-® 50

Question Number : 32 Question Id : 3354724862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

28th Dec 17 Shift 2



28th Dec 17 Shift 2

A square and a rectangle have an equal perimeter. The side of the square is 12cm. If the length and breadth of
the rectangle are natural numbers, then the ratio of the sides of the rectangleis ____. | T Tl ST UeF g &

URATT T 31 atf &1 =T 12 Tt 81 Al SId & wwars S ANSTe Wdid s Q€T &, T SITAT P sl &7 Srgud ______ Zim

Correct: 1 Wrong : 0

Options :

Question Number : 33 Question Id : 3354724863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

%e %robat%:)ility of getting two heads when a coin is tossed twice is: | UF &g #1 &l a) IFTA- W 41 a1 S wF 514

Correct : 1 Wrong : 0

Options :

® 142
v 114
® 0

2

®1

ol R

Question Number : 34 Question Id : 3354724864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The sum of Sanju’s and Manju’s age is 20. If Sanju is older to Manju by 12 years, then what is Sanju and
Manju's age, respectively? | & 3% A &1 W\Iaﬂu#mm 20 81 Ife &, T & 12 a9 aS1 81 T G 3% A &l 7T FOT:
FAT 5+

Options :

1. ¥ 20 years, 8 years | 20 a4, 8 7d
2. ® 18 vyears, 6 years | 18 a4, 6 a§
3. ¢ 16 years, 4 years | 16 @4, 4 a9

4. ® 14 years, 2 years | 14 a4, 2 a§

Question Number : 35 Question Id : 3354724865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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There are 50 toy cars, out of which 10 are remote control cars. What is the probabilit g that when a kid picks a
car randormly, it iS a non-remote control car? [ SO FEaHT R &, Mad @ 7 10 a1 e | Faikg gt 8 s‘ﬂ?«g
WA § Top STer Ue ol ATgfeah ©0 & Uk FR A1 =14 BT 5, d1 ag Yo 1 AT Tt met g

Correct: 1 Wrong : 0

Options :

1. ¥ 2/5
® 3¢5
3. ¥ 45

>

4 % 1

Question Number : 36 Question Id : 3354724866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number when divided b%r 2736 leaves remainder 75. If the number is divided by 24, then the remainder
__. | UF G @1 9 2736 & [a9Tiea e a1 & 97 SN 75 T5aT g1 die 9T #f 24 [T [T S 9t e ___

Correct : 1 Wrong : 0

Options :

® 12
v 3
® 0
® 23

o I

Question Number : 37 Question Id : 3354724867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 10(x —4) — 15(x — 3) = 3(3 + x) — 20, then the value of xis: /

gfe 10(x—4) —15(x—3)=3(3+x)—20 §.a x & A & :

Correct : 1 Wrong : 0

Options :
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e
X 8 8 R
NoWos e

Question Number : 38 Question Id : 3354724868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The greatest number of 6 digits which is exactly divisible by 27, 45, 60, 72 and 96 is: | 6 3@ &l Gad =1 G&aT
| 27, 45, 60, 72 3K 96 ﬁ@%ﬁm%

Correct: 1 Wrong : 0

Options :

1. ¥ 998000
2. ¥ 989980
3. ¢ 997920
4. ¥ 999999

Question Number : 39 Question Id : 3354724869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The nurmber nearest to 14500 which is exactly divisible by 635 is: | 14500 & Ti@meer §&T, S 635 9 QUi fovm=4 &:
Options :

1. ¥ 13970

2. % 14635

3. ¢ 14605

4. ¥ 14805

Question Number : 40 Question Id : 3354724870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sam is four-fifth of his uncle’s age. If uncle is twice as old of Somy, then what is Sam’'s age when Somy is 25

%s old? | & ST ZIRIT P ST T 45 81 AT T QT T &I BT GIAT §, 1 el GIHT 25 a9 7§17 el G T &17g T

Correct: 1 Wrong : 0

Options :

¥ 40
b 35
30

w N
® %
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Section Id : 335472105

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472105
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354724871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

General Hindi

YT o I GEAT 3 -
Correct : 1 Wrong : 0

Options :

—t
&
w

[\J
S
NN

(W1
&
o

NN
&
N

Question Number : 42 Question Id : 3354724872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

aof eatet T EH 2l
Options :

1. ¥ s

. e
2 CAGE

3. ® Jgleuw
4 T

Question Number : 43 Question Id : 3354724873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0

Options :

1. ¥ g
2 Ry
3.8 3
4. Y1

Question Number : 44 Question Id : 3354724874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o Ta) &1 AT T % G Hed H TS ATd T 87
Correct : 1 Wrong : 0

Options :

S
8 8
g

b

s w
]

3
&

Question Number : 45 Question Id : 3354724875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

a9 gt & fierit?” 5| arga § I Furg @1 o= Fiem

Correct : 1 Wrong : 0

Options :

<

AW
$

&

Question Number : 46 Question Id : 3354724876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“STHTST T U g # & P AT 87
Correct : 1 Wrong : 0

Options :
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i ® \—,ﬁm
2 8 g9
oy

4 ® =

w

Question Number : 47 Question Id : 3354724877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ST FT UAieE g § & @19 a1 8?7

Correct: 1 Wrong : 0

Options :

1. ¥ apa
2. % apar

- 2

DW

4 8 g

Question Number : 48 Question Id : 3354724878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT e el # Ieug gAT RN & ol U geg, Mg A G @ AT g?
Correct: 1 Wrong : 0

Options :

1. % g

Question Number : 49 Question Id : 3354724879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

foram F ) edg Mg e @ AT g?

Correct : 1 Wrong : 0

Options :

1. ¢ R@+ud
2. ¥ r+yw

3 ® B+
4. ® fr+yw

Question Number : 50 Question Id : 3354724880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

28th Dec 17 Shift 2



28th Dec 17 Shift 2

e 1 e e v & & AT

Correct : 1 Wrong : 0

Options :

1. ® oredt
2. ® yEdr
3. ® gRyadr
4. ¢ wadt

Question Number : 51 Question Id : 3354724881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘F W | T S g H | &I 87

Options :

1. # 3T
2. 8 srew
3. #® @Er

4 ¢ FRF

Question Number : 52 Question Id : 3354724882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IRUMTT g ® g ® & 319 |7 an 27
Correct : 1 Wrong : 0

Options :

1. ¢ Jouey qaE
2. ® A
3. ® gl quTE

4. ¥ qgefiy qurg

Question Number : 53 Question Id : 3354724883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT TIEAT gerak @ arf g A a i arg?

Correct : 1 Wrong : 0

Options :

1. ® ymefar wear
& yrefar 7 w=T
® 1 ® GAeAT gIAT

AW

Question Number : 54 Question Id : 3354724884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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T B g ST G H A R ATR?
Correct : 1 Wrong : 0

Options :

1"
2. V¢
38 o

4 ® g

Question Number : 55 Question Id : 3354724885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[EIEET) Dleg t}ig(’cH Hlddl

AAHT T A4S & ST Teve gaice amadn|

U A g A w8
Correct : 1 Wrong : 0

Options :

1. ¥ acqeg @
2. 8 Qe
3 8 gawE
4 ® g TE

Question Number : 56 Question Id : 3354724886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

;ﬁ;;ﬂwuﬁ'crw

et T GAT BTS
sxam@z%aw—m

I 9@ # T mgTe

H I 9T SAFR 3l Tol [dded gig?
Options :

1. ¥ T SEdT

2. ¢ A SIAETT

3. ® l:ia_g@ a'ﬂ:'il

4. ¥ I AT

Question Number : 57 Question Id : 3354724887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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HI AT e AT IUAT | A5l @ 5-
Correct : 1 Wrong : 0

Options :

1. ¥ spfie
2 sy
3. ® sppft
4 ® apeq

Question Number : 58 Question Id : 3354724888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

i &1 Tt ikt # @ 9T elEe R § -

S e

Correct : 1 Wrong : 0

Options :

1. ® e sE@
2. ® Fanie sEwR
3. v 29 EFR

4. ® wUF AT

Question Number : 59 Question Id : 3354724889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TiRea-TReg (FeF-T39) S S & Mo (ATTees) aFe @7 am & 2

Correct: 1 Wrong : 0

Options :

1. ¢ giyeaEr
2. ® gEg-9rdt
3. ® apE

4. ® =T

Question Number : 60 Question Id : 3354724890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

“He-suge’ ¥ o e @ IuE wRiT # F T g7

Options :
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1. ® prEt
2. % R
3. ¢ st
4. ® HqFe
Fural Economy and Fanchayati Raj
Section Id : 335472106
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472106
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354724891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Name of the NIC software for Panchayat level e-governance used in Madhya Pradesh. | ¥ e # IUaT g4 alet
TR &7 - I8 & fog T, 1L T A9 T
Correct : 1 Wrong : 0

Options :

1. ® Akruti | smgpia

2. ® Tally | Tt

3. ®¥ Pragati | umia

4. ¥ PanchlLekha | U=ie@T

Question Number : 62 Question Id : 3354724892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At what level is Janpad Panchayat constituted? | SIS U=ITId &1 a4 e €d¢ W 51T 57
Correct: 1 Wrong : 0

Options :
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1. ® Village | TTH
2. ¢ Block/ =@l (@3)
3. ® District { SaT
4. ® State | U9

Question Number : 63 Question Id : 3354724893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

%urq idhara Yojana of Madhya Pradesh government relates to________ | e TS ATE o ETYRT AT

Options :

1. ® Irrigation | =g

2. # Field developrment [ @ & fa@ma

3. ¥ High quality Seeds | Ig T0TerIT aTd sl
4. ¥ Marketing | 9=

Question Number : 64 Question Id : 3354724894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is the largest irrigation canal in India? | ¥RT # MgeEs § & &9 o 9ad 93T &= "5 87
Correct : 1 Wrong : 0

Options :

1. # Lower Ganga Canal | =&t i 957

2. ®¥ Bhakra Canal | 9TEST 5%

3. ¢ Indira Gandhi Canal | gfexr meft 98¢

4. ® Sutlej Ganga Link Canal | gaa 1T feid 75

Question Number : 65 Question Id : 3354724895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which year was Pradhan Mantri Awas Yojana - Gramin launched? | W HaT ST AI-T-TTH0T o5 ad e &t

Correct : 1 Wrong : 0

Options :

1. ¥ 1985
2. % 1995
3. ¥ 2005
4. ¢ 2016

Question Number : 66 Question Id : 3354724896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A financial assistance of Rs. 1.20 lac each has been provided for the construction of a pucca house (in plain
areas) to all houseless and households living in dilapidated houses in rural areas under the recentl

announced _________. fgegr e ______ aria TTHT AT # wedt e s - if e’ # tg gt F Wy 1.20 @
0 Ueder 1 Tl 19 ST, g O (GHae ga1 H) & i & @y wee & g R

Correct: 1 Wrong : 0

Options :

¢ PMAY(Grarnin) | WoATarE (TmHiom)
® pPMGSY | forsiogaTs

® PMMY | tgAgHaTE

® PMRY | HiuRsmEms

ol I

Question Number : 67 Question Id : 3354724897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The growth rate of GVA at basic prices for agnculture and allied sectors for the year 2016-17 (2nd advance
estimates) stands at: | @ 2016-17 (& SITUH SIgAM) & A0 FW 3T Ferg &1 & Fiael gl uT Sy @ ghe & 8

Options :

1. ¥ -0.2%
2. % 12%
3.8 21%

4 ¢ 4 4%

Question Number : 68 Question Id : 3354724898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following is known for his pioneering contribution to 'Homogenous Area Approach' to Crop
Insurance in the 1970s? | 1970 &fawﬂwaﬁm%ﬁgﬁq'@ﬁryﬁwqﬁmm (GTHTEaUT § PRI # I St
Are & foy Mgierad ® & fore ST SmaT 87

Correct : 1 Wrong : 0

Options :

# Dharm Narain | o FRmor

¢ ¥ M Dandekar | @107 2%

#® Amartya Sen | amed a9

# M S Swaminathan | UH.0H. TEHERA

ol U L

Question Number : 69 Question Id : 3354724899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The first Agriculture Census of India was carried out by Government of Indiain ______. | TR T W Y 0T
T R TR ERT ______ H o 1T 9

Correct: 1 Wrong : 0

Options :

1. ¥ 1956-57
2. % 1968-69
3. ¢ 1970-71
4. ® 1976-77

Question Number : 70 Question Id : 3354724900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Food Corporation of India was set upin _______. P # Rd T @rer T st T T eam
Correct : 1 Wrong : 0

Options :

1. ¥ 1959
2. % 1963
3. ¢ 1965
4. ® 1968

Question Number : 71 Question Id : 3354724901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Jawaharlal Nehru Krishi Vishwavidhyalaya Act was enacted in: | JETgaTd A5€ FIY aeaidenaa seeam ________
o srferfeaiiT o marem

Correct : 1 Wrong : 0

Options :

1. ¥ 1937
2. % 1956
3. ¢ 1963
4. % 1971

Question Number : 72 Question Id : 3354724902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The National Nutrition Week is celebrated from _____. | TP U AT __ TF HATAT AT 2l

Options :
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1. ¥ 1107 August | 1 §7 sq
2. ¥ 1to 7 Septemnber | 1 & 7 Warex

3. ® 2t0 8 October | 2 ¥ 8 aFgeR
4. #® None of the above [ g0 & ®Ig dT 751

Question Number : 73 Question Id : 3354724903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Poultry comes under which department of Madhya Pradesh government? | Fge UTel Fed W AT & Ty faramm
& AT 8?7
Correct: 1 Wrong : 0

Options :

1. #® Department of Poultry development [ Fge faera fawmr
2. ¥ Madhya Pradesh State Livestock and Poultry Development Corporation | HEd Had Wtrgpaqu'r g@fﬁmq

3. #® Department of Rural Development & Panchayati Raj | UTHivT & ua vamze T o faamT
4. ¥ Department of Animal Husbandry | trsgfnﬂ:rﬁm

Question Number : 74 Question Id : 3354724904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The objective of Krishi Shakti Yojana in Madhya Pradesh is to assist farmers in: | T 1e # Fu gt AT @7
TeE el w1 AT 87 § 95T neH @7 6

Correct: 1 Wrong : 0

Options :

1. # Building up physical strength | S g @7 Ao
2. ¥ Adopting new agricultural methods | 7€ F e #7 sm=mT

3. ® Procure powerful pesticides | ST Fie-TEH] H GT FCAT

4. ¥ Setting up workshop for production and repair of agri-machinery | W AT % U T AFHT & 6T
FTIATEAT HAT

Question Number : 75 Question Id : 3354724905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wet é}griCulture is practiced mostly in which of the following states? | fgiaET # & fra voar # |aitaw 9T Qiiwear

Correct : 1 Wrong : 0

Options :
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1. ¥ Madhya Pradesh | TR s
2. ® Rajasthan | T=ea™

3. ¢ Kerala | a%d

4. # andhra Pradesh | 73T WG9

Question Number : 76 Question Id : 3354724906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which state government launched “Agri-Junctions” to provide farm inputs etc. to farmers, besides providing
business opportunities to rural youth and employment to agriculture graduates? | e g WaER A

aﬁma%rgaaﬂﬁa@ﬁaﬁﬂﬁaﬁuwm PrALH muamﬁh%ﬁmﬁaﬁqfﬁms?aﬁmmﬁ#ﬁq‘qﬁwmgmﬁ
BT T &

Options :

1. ¥ Madhya Pradesh | e s

2. ® andhra Pradesh | SITRl WG

3. ¢ Uttar Pradesh | 39 0a

4. ® Himachal Pradesh | ZAm=a nea

Question Number : 77 Question Id : 3354724907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Central 5Scil Salinity Research institute is located in ______. | A 1T HET AdUTdT STJET eI ________ H e 3
Correct : 1 Wrong : 0

Options :

1. ® Vidisha | @tz
2. ® Trichy | B
3. ® Ranchi | TET
4. ¢ Karnal | #iaT

Question Number : 78 Question Id : 3354724908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Gram Badhega, Desh Badhega’ is the motto of which scheme? | ‘e ST, T4 ST Tofe T &7 Hiid amar 27
Correct : 1 Wrong : 0

Options :

1. ¢ Saansad Adarsh Gram Yojana | §g et Umq are=T

2. #¥ pPradhan Mantri Jan Dhan Yojana | Wemd §a1 S &= T

3. # Deen Dayal Upadhyay Grameen Kaushalya Yojana | &9 SaTa JUTEAT UTHIOT 12T AT
4. ® Swarna Jayanthi Gramin Swarozgar Yojana | €0 Jd | TTHI T FT

Computer Knowledge

Question Number : 79 Question Id : 3354724909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who is considered as the ‘Father of White Revolution’ in India? | ¥RT # “*2Iq ®11d &1 e Topd gl AT 57
Correct : 1 Wrong : 0

Options :

1. # Dr.N.S.Swaminathan | ST.09 0q S =RE
2. ® Dr Homi ] Bhaba | BT TS AT

3. ® HD.Dalaya | U= 213

4. ¢ Dr Varghese Kurien | 2T @i Fivad

Question Number : 80 Question Id : 3354724910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which year was the National Horticultural Mission launched? | fore af & T ammamt flee @1 gares T mam?
Correct : 1 Wrong : 0

Options :

1. ¥ 2010-11

2. ¥ 2005-086

3. ¥ 2007-08

4. ¥ 2001-02
Section Id : 335472107
Section Number : 5
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472107
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354724911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

OS stands for: | OS FTY0f &7 &:
Correct: 1 Wrong : 0

Options :

28th Dec 17 Shift 2



28th Dec 17 Shift 2

# Operating Solution | TR T
#® Open Systemn | v+ Feen

# Operating Stand | SITRRET qEE

. ¢ Operating System | ST fgen

e

Question Number : 82 Question Id : 3354724912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following Generations used vacuurmn tubes? | 407 # & frg digT 7 dergm w[a@ @71 Sy fwar ar?
Correct: 1 Wrong : 0

Options :

1. ¥ First Generation | WeIH UG
2. ® Third Generation | Td1a UG
3. # Fourth Generation | agy figt
4. ® Fifth Generation | U=/ Uigr

Question Number : 83 Question Id : 3354724913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The act of gaining unauthorised access to data in a computer or a systemis called _____________. | U AT

o7 U e T # STRT a9 SFTTEgd Ugad UTgd @ a i fare gl gl
Correct : 1 Wrong : 0

Options :

1. ¥ Virus attack | I gHAT
2. ® Forgery | SeEril

3. ¢ Hacking | gfem

4. ® Phishing | T3

Question Number : 84 Question Id : 3354724914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
How many bits make 1 byte? | fora+ fde, 1 aEe @ a91d 57

Options :
1.8

2 ® 32
3. % 64
4 ¥ 1024

Question Number : 85 Question Id : 3354724915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0

Options :

1. # Shift + F3
2. ¢ Shift + F2
3. ® shift + F10
4. # shift + F12

Question Number : 86 Question Id : 3354724916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In MS Word 2007, a text character’s lettering style and size can be changed by setting the __________ menu. |
TAUE 2 2007 #, mmmﬁ@ﬁmw R, _______ T & ZRT oI 1T a3l

Correct : 1 Wrong : 0

Options :

1. ¢ font | BT

2. ® style | @A

3. ® design | BT
4. ® theme | o

Question Number : 87 Question Id : 3354724917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which bugtp)ton is used to attach attachments in outlook? | MITq® | ATTHTT BT 31T T & Toiy Fore e &7 IuAn
T AT

Correct : 1 Wrong : 0

Options :
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ad
3 % e

Question Number : 88 Question Id : 3354724918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following is a wireless form of internet connectivity? | 75 # & @19 §ete Figpelidel ®1 UF araied &

Options :

1. ¥ Dial-up | STUT-3M

2. ® DSL | Sigaua

3. ¥ Cable Internet Access | Fad §etde Uaad
4. ¥ 3G or 4G | 35T 45T

Question Number : 89 Question Id : 3354724919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

%mmiTch cog;mand is NOT used to switch off the computer? | #TgeT ®1 e 3F @i & Toly forg @wig @7 SuanT g1
AT &

Correct : 1 Wrong : 0

Options :

1. ¥ Turn off | T 3w
2. ® Shut down | 3T ST=3F
3. ¢ Log off | @ 3w

4. ® Hibernate | ggeRAe

Question Number : 90 Question Id : 3354724920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The keystrokes Ctrl + I is used to: | it Ctrl + [ 9% TolT 0g&d &1 I1dT &
Correct: 1 Wrong : 0

Options :
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1. ® Increase font size | B A5 951+

2. ® Inserts a line break | U% @5 9% 540 HeA

3. ® Indicate the text should be bold | Ig Haa T F oy 7o Ta dleis g1 A1ied
4. ¢ applies italic format to the selected text | Heige 0T T THHT B GeToleh B

Question Number : 91 Question Id : 3354724921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is INCORRECT statement about worksheet according to MS Excel 20077 | fAfeRad & &
TATH Ugdd 2007 & Toy, g & o # ®19 97 7209 Tad 87

Correct: 1 Wrong : 0

Options :

1. #® Sheet tabs can be colored | $ite Tq@ T g1 T 8

2 ® Sogle picture can be applied as a background of a sheet | 7 o=l #1 UF T F doUEE & &7 # sHIA e
ST qhaT

3. # You can set the column width automatically to fit the amount of text | 31T HaW & ga-1 DS §¢ F T &
ST Sgree @1 ATET & Ty gaa: e gn

4. ¥ The width of a row can be specified manually or fit automatically | Uik & ZiaTs ®! fody &7 & Agare! a7
TeATEHAT e ToraT ST TaFaT 31

Question Number : 92 Question Id : 3354724922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The internet is a systemof _______. (ST ___ &1 T HUTTAAT 31
Options :

1. ® Software bundles | GTFEdR FSqd

2. ® Web page | da U

3. ® Website | dadEe

4. ¢ Interconnected networks | Sl@-ges Aedard

Question Number : 93 Question Id : 3354724923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following tools is used in MS-Word 2007 to check the spelling? [ UHUH a2 2007 #, ad-! a1l
T T X o Told T e T U feparT AT 27
Correct: 1 Wrong : 0

Options :

1. #® Research | foe=d

2. ® Word Count | a8 F13¢

3. # Setlanguage | 9T AT

4. ¢ Spelling & Grarmmmar | TUHT US TTHT
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Question Number : 94 Question Id : 3354724924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Caps lock and Nums lock keys are called_____. | U @ (Caps lock) 3 7HE @t (Nums lock) Fraam __________

Correct: 1 Wrong : 0

Options :

# Nurneric keys | ST Foam

# alphanumeric keys | UaBTHIHNE Gl
¢ Toggle keys | TS Fam

# Special purpose keys | U WO o

ol S L I

Question Number : 95 Question Id : 3354724925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What type of devices are computer speakers or headphones? | HeT & GUid AT gShi (e TFR &l 1Sagd 87
Correct : 1 Wrong : 0

Options :

1. ¥ Input | 59Y

2. ® Software | GTFeaaT
3. ® Storage | WA

4 ¢ Qutput [ ATITYT

Question Number : 96 Question Id : 3354724926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Personal computers can be connected together to form a: | it @egex @1 fomm & famfor & foig uer |mer et 1 9t &
Correct : 1 Wrong : 0

Options :

1. #® Server | Gav

2. ® Supercomputer | o FHIYT
3. ¢ Network | JATad

4. #® Enterprise | UeTITEA

Question Number : 97 Question Id : 3354724927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

st resides in the cabinet and connects all parts of computer. | ______ feic # TEaT & ST S} & gt amt
Options :
1. ¥ CPU | €y
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2. ¢ Motherboard | Aetale
3. # Monitor | ATHET

4. % UPS | gdigg

Question Number : 98 Question Id : 3354724928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In MS Excel, Sun, Mon, Tue, etc, is an example of: | THUE Ugad H, e (Sun), FF Mon), AT (Tue) 31 T IS0 &
Correct : 1 Wrong : 0

Options :

1. ¢ Series | €0

2. ® Equation | sFaae
3. # Function | Haa
4. ® Formula | BTHeAT

Question Number : 99 Question Id : 3354724929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In MS Excel, the cell address of 7th row & 7th column is: | TS Tada H, 71 O Ud 7d ST &7 96 U2 5
Correct : 1 Wrong : 0

Options :

1. 8 F7
2. ¥ G7
3. ® H7
4 ® E7

Question Number : 100 Question Id : 3354724930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Assembly language is a: | S[eT cid™ HA gid1 8

Options :

1. ¥ Machine language | A4

2. ® High level programming language | TS @ae IUTHT aies

3. ¢ Low level programming language | @1 aidet HITTTHT FAesT

4. # Language for assembling computers | FHIIEH &1 adTeaT ¥ g das
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